PR A20214E8 3 I 25 RS RIBAESIRE Ll R4 8 (B —EE)

1 % wh BMX /)N % BMX/)N#% 2= - 70. 83 176.5 58. 41 —RAEF R
2 E 0 BRI EER (F) F 93.51 223.5 76. 63 —RIE R
3 58 0T 1 £ R EER (B) 5 77.29 408. 0 74.5 ZREHR
4 BT F £ EER (F) 5 90. 27 222.5 74.31 —REH R
5 FWE IR EE (F) % 80. 54 341.0 73.43 ZRIEZ R
6 B £ B3 EERR (F) Ed 74.05 418.0 72.74 —RIBH R
7 ey B EIR FER (F) 7z 74. 05 325.5 68. 11 ZRIEH R
8 % K £ R EER (F) 5 74. 05 281.0 65. 89 “REHR
9 izl E B EER (%) 53 86. 2 265. 0 73.59 —REH R
10 | F-8% £ ER FER (&) % 86. 2 251.5 72.92 —RIEH R
11 JE F45 BEEI FER (%) % 65. 51 418.0 66. 76 ZRIEH R
12 | HERE £ B3 EER (X % 68. 96 350. 5 65. 8 —RIEH R
13 TRY EER EER (L) % 65.51 298. 5 60. 78 —RIEH R
14 SN X B ER EER (L) % 62. 06 260. 5 56. 47 —RIEBEH R
15 oA EER EER (L) % 62. 06 222.0 54. 54 —RIEH R
16 87 BEEIR FER (%) % 55. 16 306.0 53.91 ZRIEHR
17 | xlE= g i i 94.8 248.0 78.76 iz o)
18 AR A R R z 92. 8 164. 5 73. 19 B
19 K N EATE N BEATE L 100. 0 302.5 85. 13 —RIEH R
20 B &% NEEATE NEEEATE 7 89. 35 349.0 80.0 —RIEH R
21 IRE NEETE N BETE 5 85. 54 240.0 71.88 —RIEH R
22 H W NEEATE NEEATE z 84.78 209. 5 69. 82 —RIEH R
23 EZR NEEATE NEEATHE % 96. 11 212.0 77.88 —RIEH R
24 E S N BETE N BEATE % 80. 56 315.5 72. 17 —RIEBEH R
25 F2M gl Ll 7z 89. 1 386. 0 81.67 —RIEH R
26 Gl HHAER & A ER 5 98. 0 349. 0 86. 05 —RIEH R
27 BE— oA ER T AR EK 5 96. 08 269. 5 80. 73 —RIEH R
28 M Bl oA ER R R 5 95. 8 267.5 80. 44 —RAEF R
29 mEK oA ER B R R 5z 92. 68 257.5 77.75 —RAEF R
30 wE A e E 4T % 1000 z 83.53 249. 5 70. 95 —RIEBEH R
31 B AT S 10K S5 7 99.0 230. 5 80. 83 —REH R
32 P F At 10K A F 5 89.0 356. 5 80. 13 —RIEH R
33 & Ik B Eiln 10K A F 5z 88.0 365. 5 79. 88 —RIEH R
34 | SErEHM A 10K R F A b3 85.0 406. 0 79.8 ZREH R
35 X 5= At 10K A F At 79 85.0 310.0 75.0 ZREF R
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36 1 B at i 10K A F At % 84.0 298.0 73.7 ZREH R
37 4 5 A 445 HH4F z 88. 0 286. 5 75.93 ZRIEH R
38 BERF At A At #F 5 83.0 314.0 73.8 ZRIEH R
39 T il 54 7 80.0 340. 5 73.03 ZRIEHR
40 #F XA 447 a4 5 83.0 257.5 70. 98 —RIEH R
41 g AAE At At 5 90. 0 150. 5 70. 53 1z ) A
42 ELE At At HT 7z 87.0 188.0 70. 3 —RIEH R
43 ok X #E At # At # %« 83.0 342. 0 75. 2 —RIEH R
44 2k g 44 4% 88.0 248. 5 74.03 —RAEF R
45 gt 54 4t # % 79.0 354.5 73.03 —RIEH R
46 ZHRE TR == W BT F 5 91.25 213.5 74.55 —RIEH R
47 1 R F 1k EFITR z 94. 2 338.5 82. 87 —RIEH R
48 2 F 5k EFTR =z 91.8 368.5 82. 69 Z R R
49 vk F ik EFTHR z 89.9 278.0 76. 83 ZRIEH R
50 Yeig % F 3k EFITR - 92. 4 235.0 76. 43 —RAEF R
51 4 BE £F F IR EFITR z 90. 7 258.0 76. 39 —RIEH R
52 R E K Fik EFITR 2 92.9 226. 5 76. 36 EE K
53 x| #15 15 7 88. 45 371.5 80. 49 ZREHR
54 X5 F #®1 ¥ z 85. 25 353.5 77.35 ZRIEH R
55 5 & % #®77 #®77 7 89.8 257.5 75. 74 —RIEH R
56 7 B 7 #®77 5 82. 45 350. 5 75. 24 ZRIEH R
57 EE L #1 ¥ % 83.55 325.0 74. 74 ZRIEH R
58 ES ¢ #1 #1 % 74.1 259.0 64. 82 ZRIEH R
59 2 E % He FEHA 5 86. 4 295.0 75.23 —RIBF R
60 wFH Hezk FEEA 7 79. 6 291.5 70. 3 ZREF R
61 FIEE Hzk FEHA Z 83. 4 225.5 69. 66 —REF R
62 1] 5 Hezk FEHA % 76. 8 275.0 67.51 —RIETH R
63 K e Hezk FEHA % 87.8 373.0 80. 11 ZRIEH R
64 o # Hzk FEHA % 87.2 279.5 75.02 ZREH R
65 X\ AR He 3k FBEHA e 72.3 393.0 70. 26 ZRIEHR
66 A % He 2R FEEA % 71.4 371.0 68. 53 ZRIEH R
67 G it H He 2k FEEA %« 78.6 244. 5 67. 25 ZRIEH R
68 B Hek FBH®A % 68. 7 277.5 61.97 ZRIEHR
69 x| # 47 Hzk FEHA % 63. 8 270. 5 58.19 ZREF R
70 PRiE L Ei ] ESi ] 7z 95. 2 332.0 83.24 iz ) A
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71 E UL Fi# Fi 7 96. 2 309. 0 82.179 —RIBH R
72 X 5 1E Fi FiE 7 95. 6 265. 0 80. 17 —RIBT R
73 R Fi Fi e 97.2 235.0 79.79 — R R
74 BWE FiE FiE 9 94. 4 271.5 79. 66 —RAEF R
75 ) T A 2R AR 2R E 91.4 383.0 83.13 —REH R
76 e K A 2R T 3R 5 93.2 338.0 82.14 —REH R
77 o, — % AR 2R B Bk z 89. 2 354.5 80. 17 —RIBH R
78 K E T 3K T 2K z 89.8 316.0 78. 66 —RIEH R
79 B T 3% A 2R z 90. 0 310.0 78.5 —RIEH R
80 X I &, T 3R T 2K z 92.8 259. 5 77. 94 —RIEH R
81 & % % B As Bk AR 2R = 86. 25 348.0 77.78 —RIB T R
82 Tz B AY Bk B Bk = 93.2 248. 5 77.67 — R R
83 BEE A Bk B Bk 2 91.6 263.5 77.3 —REF R
84 e A Bk AR Bk 2 89. 6 291.0 77.27 —RE T R
85 x| A, T 3R T 2K z 88.8 296. 5 76. 99 —RIE R
86 T4 A Bk R Bk 4 93.2 300. 5 80. 27 EEh K
87 Ee Y Bk B 3K 4 84.6 267.0 72.57 — R R
88 I £ A% Bk AR 2R e 84.2 264. 0 72.14 — R R
89 IR RAEE RAEE 5 89. 2 373.0 81.09 Z R I H] B
90 R RAEH RAEH 7 93. 4 283.0 79. 53 ZRE R
91 B RAEE RAEH 5 83.8 406. 0 78.96 Z R I H] B
92 TEX RAEH RAEH Z 84.2 398.5 78. 87 ZRIE K
93 x| H # RAEK RAE® 7 94. 6 240.0 78.22 Z R R
94 W 45 RAEH RAEH z 88.8 304.0 77.36 ZRE R
95 o EF RAEE RAEE 5 90. 1 279. 0 77.02 ZREH G
96 EREE RAEE RAEH 5 91.9 246. 5 76. 66 Z R I H B
97 HE R RAEH RAAREE 2 86. 7 300. 5 75.72 ZREF R
98 HEX RAEK RAE® 7 81.1 377.0 75. 62 ZRIB R
99 FEA RAEK RAE® z 84.5 324.5 75. 38 ZRIBH R
100 kB RAEH RAEH 7 85.0 311.0 75. 05 ZRE R
101 | s RAEE ARAEE 5 91.2 215.0 74. 59 BB
102 | % iE4e RAEE RKAEH 5 90. 6 219.5 74. 4 —RIE ) 5
103 | #x& RAEE RAEE E 87.7 256. 0 74.19 ZRIE F
104 | =iEHE RAEE RAEH 5 83. 1 311.5 73.75 —RIE ) 5
105 | %k#&Z RAEE RAEE % 94. 0 298. 0 80.7 Z R I H] B
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106 K+ RAEK AAEH % 87.2 349. 5 78. 52 ZRIB R
107 | X4 E RAEH RAEH % 84.4 361.5 77. 16 ZRIEH R
108 | x|—# RAEE RAEH % 92. 0 254. 0 77.1 —RIEH R
109 | T & RAEH RAEH % 87.3 294. 5 75. 84 ZREF R
110 | T4 RAEHL RAEH 'S 87.8 255.0 74.21 ZRIBHHR
111 Y] RAYIT RAAT 5 92.3 164.0 72.81 iz o i F
112 | Z8E AA#BAT RA#IT 7 86. 3 232.5 72. 04 Z R R
113 i RARKAT RA#AT % 83.8 358.5 76. 59 ZRIEH R
114 £ RA#BAT RA#IT e 84.9 231.5 71.01 Z R R
115 E4 i Bl & vk (100%) z 90.5 378.5 82. 28 ZREF R
116 K oL JiF Bl Bk (800K) z 100. 0 234.0 81.7 1B o
17 | #%z==% T ok Bk (100k) | 5F 94.0 289.0 80. 25 —RIEH R
118 | Jhfef T B Bk (50K) 5z 82.0 431.0 78.95 ZRIEH R
119 & 2 5 Wk B B9k (100K) 5 88.0 340. 5 78.63 ZREH R
120 | #F) ek 7 5k (100%) 7 85. 0 376. 0 78.3 ZRIEH R
121 x| 2= e 5 Wk B B9k (100K) % 88.0 317.0 77.45 —RIEZH R
122 | x|F 5 WK B B9k (100K) e 85.5 332.0 76. 45 ZRIEHR
123 [ #R4¥ T B Bk (100%) % 85.5 323.0 76. 0 ZRIEH R
124 | W3R 3% JiF El B % (100K) e 87.5 294. 5 75.98 Z R R
125 | kMg JiF B Bk (100K) % 82.5 326.0 74. 05 Z R R
126 | RE%K T ok i1k (100%) % 81.0 346. 0 74.0 ZRIEH R
127 | REW Wk # 9k (100%) 4 82.0 279.5 71.38 ZREF R
128 | sk ik M 4 7 9= z 100. 0 225.5 81.28 —RIBF R
129 W BE H & EEkE 5 100. 0 175.5 78.78 BB i H
130 | £5%& H 7 =3 e 7 80. 0 322.5 72.13 ZREF R
131 A A T H 1z ZREkin kA 79.0 256. 5 68. 13 ZREH R
132 B A& H 1z ZREkin 7 74.0 323.0 67. 95 ZRIEH R
133 I ¥ M 4 HE Ik e 80. 0 332.5 72.63 ZRIBH R
134 | ®JiExk H 4 B e 77.0 298.0 68. 8 Z R R
135 | #IEE H 2 Rk % 70.0 354.5 66. 73 ZRIBH R
136 | Ekepa H 42 Rk % 75.0 276.5 66. 33 ZRIB R
137 | IMER H 42 Rk % 77.0 243.0 66. 05 Z R R
138 | EHES H 4 Bk 1T % 71.0 309. 0 65. 15 ZRIEH R
139 | % x# H 42 ZRHkim % 78.0 197.5 64. 48 Z R R
140 HEER H & 800k 7 83.0 354.5 75. 83 ZREH R
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N =

141 | T35 7% 200k z 77.0 423.0 75. 05 ZREH R
142 | % F& H 42 1500k z 90. 0 235.5 74. 78 ZREHR
143 1) 1 #2 H 2 200k z 82.0 340. 5 74. 43 ZRIEFR
144 | RFEH H 42 110K £ z 80. 0 357.0 73. 85 ZREHR
145 | #ZE5 M 42 110k 42 z 84. 0 289.5 73. 28 ZREHR
146 | EWHz e 200k z 72.0 427.5 71.78 ZREHR
147 | BW# | & 100K 4= % 76. 0 411.5 73.78 ZRIEH R
148 e H 1% 400k e 80. 0 260.0 69. 0 Z R R
149 E#£x H 42 1500k 4 72.0 354.5 68. 13 ZREH R
150 | A0 % H 7 100k £ 4% 73.0 270. 5 64. 63 FAET R
151 BRE Ik H % 400 4 74.0 237.0 63. 65 FIZ R
152 | HEH H % 400k % 65. 0 266. 5 58. 83 ZRIEBH R
153 | % z# B X i # A Xl A 7% A 7 100. 0 251.0 82. 55 —RIBF R
154 | H&HZ B K 5 K R o 8 A % 88.8 271.5 75. 74 —RIEBEH R
155 | FEZE mFWH HF 5 76.9 267.5 67. 21 B B
156 | &#5=% EFiE 4 F 7 78.23 245. 5 67. 04 —RIET R
157 | #Hy4 EFiE HF 4 85. 33 290. 5 74.26 —RAEF R
158 | ZE#H EFHE HF % 79. 63 339.0 72.69 —RIEH R
159 | Z=&pE 3k F A 3% z 77.0 337.0 70.75 —RAEF R
160 £ 1 2k A KR 2 79. 4 222.0 66. 68 —RIBT R
161 £ Fib T 5% A KR L2 78.7 218.5 66. 02 —RIBF R
162 | TrE T 5% A KR L2 67.7 354.5 65. 12 —RIBH R
163 =F % % 5% EN N3 =z 74.6 242.0 64. 32 —RIBF R
164 | BT % 5% A K R =z 74.5 199.0 62. 1 —RIBF R
165 | #zZH % % EN k5 4 74.2 267.5 65. 32 —RAEF R
166 R 5k EYN %> 'S 73.7 218.5 62. 52 —RIEH R
167 | ®&HE i ENG 351 % 63. 2 314.0 59. 94 —RIBH R
168 | xle2ik 3k EN k5 4 72.1 177.0 59. 32 —RAEF R
169 | #% T " Ek Wik (F) 7 80. 13 295.0 70. 84 Z R R
170 EN ZE Mk (F) % 64. 24 277.0 58. 82 ZRIEBH R
171 x| BB & 2R Mk (F) % 60. 27 193.0 51. 84 ZRIEBH R
172 BN w2k Mk (&) = 95. 96 284.0 81. 37 ZRIEH R
173 T Y " Ek Wik (%) % 79.79 242.5 67.98 ZRIBH R
174 | s W 3k Mk (&) % 47. 46 272.5 46. 85 ZRIEHR
175 | wErE PR E%: T &K (B) = 81.91 207.0 67.69 —RIBF R
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N =

176 B AR BB AR B A EE 5 96. 12 396. 5 87. 11 —RIEH R
177 | FR%E B B R E R E B A EK 5 95. 08 369.0 85.01 —RIEH R
178 | T & & Sh:z B B A EE 5 94. 68 328.5 82.7 ZRIBHHR
179 | 15k #% HEAER B EAER 5 95. 48 305.0 82. 09 ZREF R
180 | x| =4l SRz o BB A EE 5 92. 52 336.0 81. 56 ZRIEH R
181 REE EAKE TAKE % 96. 0 173.5 75. 88 —RIEZH R
182 | # =yl F R F R 2 93.0 279.5 79. 08 —RAEF R
183 | A F Ak £33 R z 98. 6 164. 5 77. 25 —RAEF R
184 | x| = R Bk EFITR = 89. 4 337.5 79. 46 Z R R
185 FREAR R 2R EFITR = 88.0 350. 0 79. 1 ZRIEHR
186 w3 R 2R EFITR = 85.0 356. 5 77.33 ZREHR
187 | Z%k=E Rk EFITR z 80. 2 392.0 75. 74 ZRIEH R
188 2% R 2R EFITR z 84.6 307.5 74.6 —RIEZH R
189 | 4#H4a Rk EFITA =z 84. 4 304. 5 74. 31 —RIETH R
190 eV ioE 4 R 2R EFITR = 80. 8 316.0 72. 36 ZRIEHR
191 42 E J EFITR = 81.4 285.0 71.23 ZRIB R
192 | ### Rk FEFITR = 83. 4 241.0 70. 43 ZRIEHR
193 I E R 2R EFITR 2 73.6 347.5 68.9 ZRIEH R
194 | Ew R 2R FI1R 2 87. 4 264. 5 74. 41 —RIEZH R
195 | #E&F ik B % % 87.2 379.5 80. 02 —RIEZH R
196 | 253 kS k-S4 7 81.8 376.5 76.09 ZRIEF R
197 | %kwElWL ik} B % % 87.2 289. 5 75. 52 —RIEH R
198 1 2% % 5 72. 43 236. 5 62. 53 —RIEH R
199 | &HXTF B 2% B % 5 66. 13 306. 0 61.59 —RIEBEH R
200 | x|z kS kS % 79.73 394. 5 75. 54 ZRIEFR
201 FEH k%4 k-S4 % 77.27 407.5 74. 46 —RIBF R
202 | #EBE k-S4 Jisk-Sc4 % 82. 33 295.0 72.38 ZRIEF R
203 TR BEY kS e 80. 95 305.5 71.94 —RIEZH R
204 | EWE i 2=k E e 83. 4 193.0 68. 03 —RIEZH R




